EER=R—ETiE Y E R B (R

BYBHRBE $M24£8A27H (K)

O HE e @FEETL—X (BSIE) e
migd |MAE 5 | KE | @AH) |k R&E |HHLE BS | HKE | @Eiray) | FHEEERS
XHE  |EP 2 610| 476,300 B2 ;3 42 71 521,400 |&]
XHEF  |ED 2 654| 550,000 B i3 67 90| 394,900 | &
L | 2 660| 585,200 EEES | 69 112] 498,300 |~
XHE  |EP 2 684| 589,600 BrE ;3 69 76| 383,900 | 7]
E 71 78| 400,400 | =]
B2E ;3 84 94| 507,100 [7[
7.4+ E— XERE | 88|  127] 616,000 |F
miEE |MAA| E5 | AFE | @EAH) i&#& [ivA] i 98 140| 617,100 |F
A i 1 499| 211,200 |82 1 i3 113]  170| 645,700 |&T
Ei Ittt 3 667| 221,100
4 It 5 786| 309,100
L4 i 6 726| 115,500 [ YIES E—
LY i 6 801| 320,100 | miEE |MAE F5 | AE | GdH) &%
4 It 6 904| 354,200 Eks Ittt 3 619 474,100
LY i3 6 950| 367,400 mE It 4 502| 724,900 [$FIE4
Ei Ittt 8 850| 283,800 M k3 8 459| 372,900 |bEHR4
LY Ittt 8 864| 324,500 Eks Ittt 8 540| 478,500 [BEUE4
e It 9 538| 293,700 [3FIRA
M i3 11 439| 156,200
O E K — 4 it 10| 561| 420,200 [$EifR4
migs |MRB| 5 | KE | @GHAd) &= e i3 11 479| 490,600 |dEiR4E
maE It 0 85| 396,000 M4 i3 12 508| 239,800
e Ittt 0 94| 412,500 e i3 12 554| 268,400
4 It 0 87| 389,400 e It 14 554| 243,100
mE i3 0 122| 540,100 M i3 19 391 107,800
e ittt 0 127| 290,400
4 It 0 169| 322,300
LS i3 0| 150 311,300 ¥ BELTVWOREXTERRISFTY.
M4 i 0 95| 275,000 X FERIEIBERERRLTVET,
4 It 0 115 447,700
mE It 0 126] 453,200




